
1

OUTDOOR
KITCHEN
COMBINATION
ASSEMBLY MANUAL

FIND MORE INSPIRATION ONLINE AT 
COZZEBBQ.COM



2

Outdoor kitchen Combination 
Assembly manual 

Models can combinate
90526 90527 90528

90529 90531

1



3

suggestion 1
90527+90526

suggestion 2 
90527+90528

suggestion 3 
90527+90529

suggestion 4 
90529+90526

suggestion 5
90529+90527

suggestion 6 
90529+90528

suggestion 7 
90527+90531+90526

suggestion 8 
90527+90531+90528

Suggestion 9 
90527+90531+90529

suggestion 10
90529+90531+90526

suggestion 11
90529+90531+90527

suggestion 12
90529+90531+90528

2



4

3

Suggestion 2

Suggestion 1
90527+90526

2160mm

64
0m

m
64

0m
m

90
0m

m

90527+90528

90
0m

m

2760mm



5

4

Suggestion 4

Suggestion 3
90527+90529

90529+90526

11
80

m
m

11
80

m
m

1835mm

2160mm
64

0m
m

64
0m

m



6

5

Suggestion 6

Suggestion 5
90529+90527

90529+90528

11
80

m
m

11
80

m
m
1835mm

2760mm
64

0m
m

64
0m

m



7

6

Suggestion 8

Suggestion 7
90527+90531+90526

90527+90531+90528

1905mm

2505mm

90
0m

m

1605mm

1605mm

90
0m

m



8

7

Suggestion 10

Suggestion 9
90527+90531+90529

90529+90531+90526

1605mm

1905mm

11
80

m
m

1605mm

11
80

m
m

1605mm



9

8

Suggestion 12

Suggestion 11
90529+90531+90527

90529+90531+90528

11
80

m
m

11
80

m
m

1605mm

1605mm

1605mm

2505mm



10
9

Combinable Outdoor
Kitchen：

1.90526
2.90527
3.90528
4.90529

Basic combination：

1.90527+90526
2.90527+90528
3.90527+90529
4.90529+90526
5.90529+90527
6.90529+90528

1 2

4 M6

3

M6X80 M6X12

4pcs. 2pcs.

2pcs.

2pcs. 4pcs.

Horizontal combination outdoor kitchen 
Assembly manual 



11

4

4

10

1 Remove the hook from the right side.
Note: 90526&90528 only allow left side to be combined with 
other outdoor kitchen .

2

1

1

M6X12-SS M6X12-SS

M6X12-SS M6X12-SS

M6X12-SS M6X12-SS

M6X12-SS M6X12-SS



1211

The disassembled screws can be stored for future use.

2

2

3

4

M6X12-SS

M6X12-SS M6X12-SS

M6X12-SS

4

4

M6X12-SS

M6X12-SS M6X12-SS

M6X12-SS



1312

5

Lock screws at either side 
of the combination.

1

M6X80

2pcs.

M6X80 M6X80

6

M6

2pcs.

M6 M6

2



1413

7

M6X12

4pcs.

8

OK

M6X12

3

3

M6X12
M6X12

M6X12



15

14

Can be combined 
with 90531:

1.90526
2.90527
3.90528
4.90529

Basic combination：
1.90527+90531+90526
2.90527+90531+90528
3.90527+90531+90529
4.90529+90531+90526
5.90529+90531+90527
6.90529+90531+90528

1 2

3 4

M6X65 M6X12

4pcs.

4pcs. 4pcs.

Corner combination outdoor kitchen 
Assembly manual 



1615

1

1

M6X12

2pcs.

2

M6X12

2pcs.

M6X12 4

4M6X12

2

4
M6X12

4
M6X12



17
16

3

4

1

2

M6X40

M6X40

M6X40

M6X40



1817

5

1 3

M6X65

M6X65

M6X65

2pcs.

M6X40

M6X40

6

2 3 1

M6X65

M6X65

M6X65

2pcs.

M6X40

M6X40



1918

7



20

Manufactured by, 
Millarco International A/S
Rokhøj 26, 8520 Lystrup - Denmark 
millarco.com
cozzebbq.com

FIND MORE INSPIRATION ONLINE AT 
COZZEBBQ.COM


